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QUESTION 1

Click the Exhibit button.

Nodes
4 Nodes
§ B oy (TS| £ aff.01 (AFF8040)
iy AL aff-02 (AFF8040)
- tme-aB00-01 )]
Ei
oThc following nodes are not reachable: tme-aB00-01 and tme-a800-02
> (10of2)
aff::> cluster show
Node Health Eligibility
aff-01 true true
aff-02 true true
tme-aB800-01 fal se true
tme—a800-02 false true

4 entries were displayed.

The exhibit shows the Nodes section of OnCommand System Manager from ONTAP 9.5 and the output of the cluster
show command.

Referring to the exhibit, which two statements are correct about the tme-a800-01 and tme-a800-02 nodes? (Choose
two.)

A. The two nodes have lost their connections to the cluster network.
B. The two nodes are both powered down.

C. The two nodes have failed over to the AFF-01 and AFF-02 nodes.
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D. The two nodes have been unjoined from the cluster.

Correct Answer: AB

QUESTION 2

When troubleshooting an 1/O module (IOM), which action should you perform before replacing it?
A. Swap IOM-A with IOM-B in the shelf.

B. Reseat the IOM.

C. Reboot the node.

D. Power cycle the shelf.

Correct Answer: D

QUESTION 3

An administrator wants to perform a patch upgrade on their ONTAP 9.5 HA cluster. What are two ways to accomplish
this task? (Choose two.)

A. Use the netboot procedure.

B. Use the automated nondisruptive upgrade (ANDU) process in the Cluster CLI.

C. Use the automated nondisruptive upgrade (ANDU) process from OnCommand System Manager.
D. Use the storage disk updatefirmware command.

Correct Answer: BC

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-ug-rdg% 2FGUID-590B351F-
BDDF-41B5-B0OF1-391BEC7542E1.html

QUESTION 4

You have a 4-node cluster configured for FC. You create a new LUN on node 1, map the LUN to a host, and verify that
the host is able to correctly access the LUN. However, after moving the LUN\\'s volume to node 3, ALUA reports that all
the paths are non-optlmized. You have already verified that all zoning and physical cabling is correct.

What should you do to enable ALUA to see the optimized paths?

A. Update the reporting nodes for the LUN mapping.

B. Update the igroup initiator WWPN.

C. Update the MPIO policy to most recently used.

D. Update the MPIO policy to round-robin.
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Correct Answer: A

QUESTION 5

An administrator deployed a FAS8200 system with several aggregates. The administrator wants to improve the
performance on their VMware datastores and needs the performance increase to be unaffected during controller
failovers.

In this scenario, which technology would satisfy the customer\\'s requirements?

A. Flash Cache

B. FlexCache

C. FabricPool

D. Flash Pool

Correct Answer: D

Reference: https://www.netapp.com/us/media/tr-4597.pdf
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